HE AT V—T P —7#EK 0 6H6H(H) 28 1 KRIEREY

G =—F
Gl “uyz 501 502 503 BB RAGE . NEfL
501 FEE /N FLFC 1—-3 0—1 0 -3 3
502  bLIExby=727I7 3—1 0—0 4 +2 1
503 CIS40 1—0 0—0 4 +1 2
G =—h
G2 Tuavs 504 505 506 BB 3%aE ) BT
504 bunky-o 0—2 1—0 3 —1 2
505 FitEA Y b A 2—0 2—0 6 +4 1
506 F.CRM 0—1 0—2 0 —3 3
57 T 2 FCHYh—F A bTEH
HAE B V—7 i) —27 83k @ 6H6H(H) = 0 KRRIEEREY;
H ==—}
H1 7wy 507 508 509 BB 30aE ) BT
507 AT 2—1 4—0 6 +5 1
508  PH)IIxb<ixbT L — 1-2 0—1 0 —2 3
509 BRRY > B — A 0—4 1-0 3 —3 2
H =—F
H2 7wy’ 510 511 512 BHm BREZE EZ
510 WHS (3EHE)
511 BACARDI - 0 4 2
512 Ko'Gyo ! ‘11:(1) 6 +4 1

BTy PULETHPMPE—F A bt



